2,
/bc?
. . %
C2 Paper C — Marking Guide ‘S‘o/o
%
o)
1 tan’ 6 = L M1 O’b
4+ L
tan 0 iﬁ Al
9:%,%—norn—%,—% Bl M1
— 5 T @m Sn
6 ) _zs za? Al (5)
2 (i) =log (3*x5) Bl
=2log,3+1log, 5=2p+gq Ml Al
(i) =log, % =log, 3 — log, 5 — log, 2 Ml
=p-qg-1 Bl Al  (6)
3.0 =l+a(io+ "("2‘1) (L) +.. Bl Ml
=1+ Lox+ Lam—1x"+ .. Al
(ii) %n: 31—2n(n— 1) Ml
Sn=nmn-1)
n[8—(n—-1)]=0 M1
nz0 -.n=9 Al (6)
4. @) T-2u-3P=2
X
Tx—2x*-3x=2 M1
3+ 27— Tx+2=0 Al
(ii)) x=-2 isasolution .. (x +2)is a factor Bl
3 — 4x + 1
x+2)3x3+2x2— Ix + 2
3¢+ 6x7
— 4 — Tx
=4 - & M1 Al
x + 2
x + 2
(xR —4x+1)=0
x+2)Bx—-Dx—-1)=0 M1
x=-2(@atP), 1,1 Al
- (3.6).(1,2) Al )
. 4
5000 f=[ 5 dr
flx)=2x"+c¢ MI Al
(-1,3) .. 3=2+c¢
c=1 M1
flx)=2x72+1 Al
4
i) = L Qx2+1) dr
=[-2x" +x]} MI Al
=(-1+4-(2+n=44 M1 AL (8)
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2,
//)Q
%
(i) sind _ sinl.7 M1 \90/
8 14 O(’O'
sin 4 = %sin 1.7 ‘OO
ZBAC = 0.5666 Al 7
ZACB=1— (1.7 +0.5666) = 0.875 (3sf) M1 Al
(i)  AB*=8%+ 14— (2 x 8 x 14 x cos 0.875) M1
AB= 1 0 . 7 9 Al
P=10.79 + (14— 8)+ (8 x 0.875) = 23.8 cm (3sf) M1 Al 8)
(@ (i) =3'x3"=3y MI Al
() =3"x@Y=1) MI Al
1.2 _
(b) 3y-3y" =6
V' =9y +18=0
(y=3)y—-6)=0 M1
y=3,6 Al
3*=3,6
x=1, 16 BI Ml
g3
x=1,1.63 (3sf) Al )
3
(i) L WP =2x+k) dv = [2x° =2+ k] M1 A2
=(9-9+30)-(3 -1+k M1
— 2
=2k+ 3
2 Q2
2%k+2 =382
k=4 M1 Al
(i) = lim [-4x2]% M2 Al
k—oo
. 4 4
= lim {- % — (-2 M1
lim { 3 55
= 1im (v2 - 4)=2 Al an
k—oo ki
(i) ar=-48, ar*=6 B1
3.6 1
—48 8 M1
—_ [ 1 — 1
r= 3—§ = E Al
- 96 Al
2
(i) =-—2_ =64 Ml Al
1-(-d)
_(_1yn
i) S, = =T —eapn (=L MI Al
1-(-d)
S.—S,=64-64[1-(-1)1 M1
=64(—1 )" =2°x (-1)"x 27" = (-1)"x 2°7" Ml
difference is magnitude, .. =2°"" Al (11)
Total (72)
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